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Hz=2pmi Z|=4=50 455 454 476 451 46.6 476 486 -
HUE % 6.3 6.2 - 6.2 6.2 6.1 - -
AH|AEE7F HES2IH], % 22 2.2 23 24 25 23 22 =
oHE7t HES7IH|, % 2.8 20 25 27 27 25 24 e
GDP F7|H], % 0.0 0.1 0.0 . . . . .
e B | 74|, % 1.3 -0.7 16 -04 1.3 0.7 0.4 -
AL AL H7I8], % -0.3 -0.5 - 1.0 -0.5 1.5 = =
o= T HMYES7IH], % -33 -12.1 - -115 58 -36 = -
H z=pmi Z|1Z=H =50 52.0 483 467 47.0 483 469 449 454
HAE % 43 4.4 0.0 44 44 = - -
AH|AFE7E HASZIH], % 2.0 25 28 25 3.0 28 26 -
St HES7IH], % 3.3 3.3 36 3.2 37 35 34 -
GDP F7[H], % 04 0.6 : = s . . =
- Of oy F7|H], % 0.8 0.2 1.5 -0.2 1.2 0.4 1.2 -
ALAMAF HM7IH|, % 03 0.4 -0.7 -0.3 1| 23 1.1 2
ol +E HHS7IH], % 45 3.2 74 2.7 7.3 114 4.0 -
== Hz=2pmi 7|Z=M=50 495 493 487 496 487 490 484 487
HUE % 25 2.5 25 25 25 24 25 -
2 H| X2 TF HASZIH|, % 2.8 29 38 37 4.0 36 36 2
—HE7t HAS7IH], % 2.0 23 27 24 25 2.6 29 -
GDP HASZIH], % 4.8 5.0 54 = s = . =
O EHof HESZH], % 27 38 36 37 0.0 3.0 49 -
A A HES7H], % 5.0 5.6 6.8 6.2 0.0 5.9 7.7 =
=a RS AL Sle® FUEH| 9% 34 3.2 42 32 0.0 41 42 =
2 S HASZIH], % 5.9 939 5.8 107 6.0 -3.0 12.4 -
HZ=2pmi 7|Z=H=50 494 50.2 499 50.1 49.1 50.2 50.5 49.0
L H|AFE7F HESZH], % 0.5 0.2 -0.1 0.1 0.5 -0.7 -0.1 =
MAXHS 2 HAS7IH|, % -1.8 -2.6 -2.3 -23 23 2.1 25 =
Sy megf HMES7H], % 2.9 239 - 3.1 45 3.0 = =
=== Hz=2pmi Z|=H=50 49.3 49.7 50.3 49.6 50.1 50.6 50.3 -
Ap&: LSEG, 9212849714
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